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Question Number : 1 Question Id : 3354725631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhere is Indira Gandhi Rashtriva Manav Sangrahalya situated? | Sieer Tt TP AT SUETAT T8 1620 &7
Options :

1. ® Delhi | &eal

. ¥ Bhopal | HOTe

® Lucknow | @95

® Kolkata | ®ieemET

[0

w

s

Question Number : 2 Question Id : 3354725632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which city has Eina Refinery, also known as Bharat Oman Oil REefinery, a joint venture between Oman il
Corporation and Bharat Petroleurn Corporation? | @iH & ag¢ # diHT wra=et § Fe 9 siiar de Rwmg=er & 7 9 +f
ST ATET 5, ST ST R S ARG Ug Terad B¢ & siid U Gh J20 87

Options :

1. ¥ Chanderi | Zigtt
2. ¥ Sagar | AT

3. ¥ satna | 9d-T

4. ® Ujjain | =4

Question Number : 3 Question Id : 3354725633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Ramdhari Singh Dinkar was honoured with the Jnanpith Award for which one of the following books? | TIHEET
g Toma @ MaieieT geaet 8 & foradr oy STdte qees i | ST fe T o7

Options :

1. #¥ Kurukshetra | &g

. ¥ Urvashi | 34t

. ® Parashuram Ke Prateeksha | UCSRTH &1 W 1gm

[

L

4. ¥ Hunkar ) _gF‘CFIi!.

Question Number : 4 Question Id : 3354725634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
EBaghelkhand lies in the

Options :

1. ¢ north eastern | 3¢ gdi
2 ® southern | gfgnft

® northern | 9T

# western | Ui

w

-

Question Number : 5 Question Id : 3354725635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
Tational Youth Day’ 15 celebrated on
AT ST 21

Options :



16th Dec17 Shift 2

¥ 12th January| 12 St
¥ 3rd January| 3 SEeT

o

1,
24
3. ¥ 30th January/ 30 F=aer
4. ¥ 21st January/ 21 J9aer

Question Number : 6 Question Id : 3354725636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Wwhich famous Indian journalist was recently shot dead outside her house in Eangalore? | Tor WG 19 UF@ T &1
ZTA 51 | STA H S/ 5 & 15 MAT A o T8 &ff?

Options :

1. ® Sagarika Ghose | T Y
2. % Barkha Dutt | sR&@Tgdd

3. ¥ Sonali Singh | AFTHT €g

4. ¥ Gauri Lankesh | T #drar

Question Number : 7 Question Id : 3354725637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Who is’,qg\gre %};irst Indian cricketer to take a hat-trick in an ODI match? | TSI A7 H 5o of 16 Ul ARd

Options :

1. ¥ Kapil Dev | & g

2. ® Anil Kumble | SITa et

3. % Kuldeep Yadav | Feg 0 amgd
4. ¥ Chetan Sharma | =a @i

Question Number : 8 Question Id : 3354725638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Who was the Chief Guest at Republic Day parade of 20177 | 2017 & a4 fgad We  T&g i i &7 47

Options :

1. ® Shinzo Abe of Japan | 9w @ T3T aTer

2. ¥ Franceis Hollande of France | %9 & ba5d oS

3. ¥ Salman Bin Abdulaziz Al Saud of Saudi Arabia | G & & GoW o aegrar i 93g

4. ¥ Crowm Prince Mohammed Bin Zayad Al Nahyan of UAE | 6% aFd SR & w1 0d AIgHAg Ta Ag S
A

Question Number : 9 Question Id : 3354725639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
What is the boundary line between India and Pakistan called? | WRa 3 OTiered T+ @ ol AT $@T &1 F207 F5d o7

Options :

1. ¥ Macmohan Line | BeAgH &7
2. ¥ Mountbatten Line | HT3gee &7
3. ¥ Radcliffe Line | Yo @r

4. ¥ Dalhousie Line | SAg T &@T
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Question Number : 10 Question Id : 3354725640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Which one of the following aglat;es is famous for Chikankari work, a traditional art of embroidery? | FgRET
T 8 E B AT GIH, TGS bl TR ell, Il o P10 & (o] Hiekg 57

Options :
2 % Jaipur | S
3. ¢ Lucknow | @&4%

4 % Mysore | BT

Question Number : 11 Question Id : 3354725641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The important latitude that passes through Madhya Pradesh is

________ | AEAWES | BT o aTel! Hgeayqul sTamar

Options :

1. ¥ Tropic of Cancer | @ @7

2. ¥ Tropic of Capricorn | A @1
3. ® Equator | gAed &@T

4. ® Arctic Circle | sIrie® o

Question Number : 12 Question Id : 3354725642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Pandav Falls lies in .| UTEd T

Options :

1. ¥ Pench National Park | U T g2

2. % Ghogua Fossil Park | =H[3IT Sitaned Ferm=
3. ¢ Panna National Park | wgT T8 F2I4

4. % Madhav National Park | HTed T 32

Question Number : 13 Question Id : 3354725643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The Sun temple of Shivpuri is at

Options :

1. ¥ Sesai | @@ e

® Sursaya | grEmET

# Sahvyadri | dgme!
# Raghogarh | TTETg

M

Question Number : 14 Question Id : 3354725644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
In which district of Madhya Pradesh is the Sanodha Fort? | T uger & fore Foter § @=rem foem 27

Options :
1. ¥ Sagar | 9T
2. ® Tikamgarh | S@ATG



16th Dec17 Shift 2

2 ® Khandwa ! =G
4 % Chhindwara | fgarer

Question Number : 15 Question Id : 3354725645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the highest civilian award given in India? | 9Rd § T S STAT Farig AT R & a1 57
Options :

1. ¢ Bharat Ratna | 4Ra @@

2. % Padma Bhushan | o3y g

# Padma Vibhushan | way fErgmor

# Rajapath Award | TR0 QOERTT

w

-

Question Number : 16 Question Id : 3354725646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MNarme the main fort in the district of Barwani . | sgar et # @ ge et &1 9 gamsa

Options :

1. ¥ Fort of Sendhwa | erar @7 ferer

2. ® Fort of Mandu | AT T foeelT

3. ¥ Fort of Dhar | &I &7 fFaT

4. ¥ Fort of Bhawargarh | YTaSTg &7 War

Question Number : 17 Question Id : 3354725647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

India's first Bio-CNG plant producing CNG from agricultural residue is located in: | 14 sredet & wig==i a7
ATAT AT &1 T AT-H =1 T 957 78T &

Options :

1. ¥ Madhya Pradesh | meamaa
2. ¥ Jharkhand | FIREs

3. ¥ Maharashtra | AgRTE

4. ¥ Telangana | J&TET

Question Number : 18 Question Id : 3354725648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Kudankulam Nuclear Poweer Flant is located in

Options :

1. ¢ Tamil Nadu | IaTg

2. ® Gujarat | 9T

3. ¥ Madhya Pradesh | Aezmas
4. % Uttarakhand | 3O0ES

Question Number : 19 Question Id : 3354725649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Name the %gmple constructed by Prithviraj Chouhan in Bhind district. | T2 7 # qdir =g & T T Ay
T ATH &7 &
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Options :
. ¢ Vankhandeshwar Temple | S@23a¥ Algt
% Mata Renuka Temple | HTGT X0@T AR
® Narad Dev Ternple | 9Rg 3 HigT
® Neelakantheshwar Ternple | Sie@ser AidT

—

r

Question Number : 20 Question Id : 3354725650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Who armong the following was NOT a recipient of Vishwamitra Awards - 20157 | afeiEs # & w4 et
ERT - 2015 & WTHEd | "5l 47

Options :

1. ¥ Sunil Kewat | G e

#® Mohan Shakya | ATg ITFF

# Sachin Kasture | dfcH #eqal
. ¥ Anjali Vashishth | e afde

r

L

N

General Maths and General Aptitude

Section Id : 335472144

Section Number : 2

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472144
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354725651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If the digits 1, 2, 2, 4 and 2 are each used once to form the smallest possible even five-digit nurmber, ther the
digit in the tens placeis ____. [ 9ig 1, 2, 3, 4 ¥ 9 W &[0 TYTH T UTel- 3 T4 & A & 70 0@ o
U TR AT g, a7 g eI H & gl

Options :
1. ¥ 9

2 % 4

W

M2

Question Number : 22 Question Id : 3354725652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0



16th Dec17 Shift 2

The rational number equal to the repeating decimal 0.279279279... is: | [Hdd gUAAT 0.279279279.... &
TH OHT T 5

Options :

1. ¥ 27971000
2 ¢ 31/111
3. ¥ 279/100
4. % 317100

Question Number : 23 Question Id : 3354725653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
In a right angled triangle ABC right angled at A, #B = 40°. If M is the midpoint of the

hypotenuse BC, then £AMC =? / TH®IOT BHoT ABC # A W FHDIOT % d 4B = 409
afe &of BC &1 A7 fdeg ME, @l 24AMC =7

Options :
1. % O

M

& 80°

% 500

oy

4. % 70°

Question Number : 24 Question Id : 3354725654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
(4x*+3x+ 1) — (2x* +5x—2) =7

Options :

L 2x3-2x+3
1. ¢

 2xI42x+3

- -2x*+2x—3

g
Ix=-2x-3

Question Number : 25 Question Id : 3354725655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Find the average. | 3&d FH@Tom

37,42, 14,19, 18

MNntinanc
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Question Number : 26 Question Id : 3354725656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
which of the following cannot be the exterior angle of an '’ -sided regular polygon? | g # & &4 @1 1’ -wgta
T S HT AR AR 5 GHA1?

Options :
1. % 10

r
§

L
E:

4.0

Question Number : 27 Question Id : 3354725657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the value of 5% -7 at x=2. / x=2 U 5x? -7 & HA AT Hl

Options :
1.¥13

[2
M2
-l

w
¥

= L]
=l

e
.
~l

Question Number : 28 Question Id : 3354725658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
If the LEriTeter of a rhombus is €8 cm and one diagonal is 30crr, then the area of the rhombus in sQ.Cmis: |

i T FETHS FT UIAT 68 HHT o U fewl 30 G6T g, a7 ol Sdt # ragds 9 49 &
Options :

L
(3]

50

M

L
M2

W)
ca
L

AN

2
NN
=

Question Number : 29 Question Id : 3354725659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
What is the next number in the given sequence? | T2 T2 arg@wd H STRT T F47 517
15, B, 24, 65, 35, 81, 42, 94

Options :

R —
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Question Number : 30 Question Id : 3354725660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The number of students in 2 rooms is 128, The ratio of the number of students in room 1 and 2 is 2:4 and
room 2 and 2 is 7:5. Find the number of students in the first room. | 3 A § Eenidt & @& 138 81 1 & 2
FHC | et & T @ auTd 304 8 Ud 2 o 3 wae o Taemiet @ e @ agud 705 8 wem e { T T
T AT T

Options :

1. ¥ 40

2 ® 56

Ly

® g2

Question Number : 31 Question Id : 3354725661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Anu and Vinu can complete a work together int da}TS. Anu alone do the same _jOb in 10 daij. Homwe long will

Vinu alone complete the job? | &M 3T a9 @rr Wawe S feqt # @ &1 ool 9 dad 51 o Sl 39 &4 @1 10 i
T R e R s o =

Options :

1. ¥ 3days | 3T
® Bdays | 8
¥ 10days | 10T
® gdays | 6 feq

WM

s

Question Number : 32 Question Id : 3354725662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Kurnar tried his skill at shooting at a fun fair. He has to hit the target and if he hits the target he gets 1 Bs. and
if he misses he has to pay 50 paise. He atternpted 25 shots and won 10 Rs. In how many did he hit the target?

| FET = T Het B Tt U8 S0 H10 7 ST 1 RIS F0 386 759 B AeAT ¢ o i 9% A5 # deare a1 39 1
mmg@ﬂaﬁwﬁagww%aﬁﬁ SO B9 39 5t I8+ 25 T |rer o 10 702 <t 39 Tra= maat & e
T 37

Options :
1. ¥ 10
.V 15

[+2

® 18

4 ® 20

o

Question Number : 33 Question Id : 3354725663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The efficiency of & is twice that of E. & completes a work in 9 days lesser than taken by BE. How many days will

4 alone take to complete this work? | A @ FHGATTE A SHI 5] A UF &4 #1 B & 9 fo7 =0 & gof @ Sa1 8] g9 & &1
T F | STl A @ fo ati?

Options :
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—

® 12days /12 T
¥ 10days [ 10 T
¥ 9days | 9 T

¥ 13days | 13 e

uo

o

Question Number : 34 Question Id : 3354725664 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The age of father 15 vears ago was twice the age of his son. Five years hence, the father's age will be 1.5 times
that of his son. The respective ratio of their present ages is: | 15 @ qgf {UGT &1 377 Ick T T 31 & rAT 2 oier o
T TUAT e &1 Iek YF @1 S & 1.5 AT g 3wk ! aa A1 1 T Galled SIuTd 5

Options :
1. % 11:5
V117

R

Z R 72

LA -

. ® None of the above | I0g® H & F15 75!

NN

Question Number : 35 Question Id : 3354725665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 4x8 — 2x5 + Bx*- 3x3—4x2 + 7 is divided by x+1, then the remainderis____ /afg 4x8 -

2x5 + 6x%- 3x3— 4x2 + 7 &I x+1 gary faenfaa fhar Smar 8, af dwwer B

Options :
1. v 18

M

w

®0

o

Question Number : 36 Question Id : 3354725666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A bag of weight 26kg contains 8 balls of equal weight. If 2 balls are removed from the bag, then what will be
the weight of the remaining balls? | 36 TFT o= & Ua 96 # G0 a9 & 8 T 81 g dar & 3 712 e S 9t 8, a1
Sty it T =T TFaAT g e

Options :
1. ¥ 15kg [ 15 o

2
3.
-

e

Question Number : 37 Question Id : 3354725667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the numerical value Qf the volume of a sphere is equal to its surface area, then the radius in unitsis ____. |
Tt U Tt & TAa FT GEIcHE AT I6e 81T S35 & aXlea] &, 91 Sl Swls A a1 ___ gl

Options :

1. %1

2.¢ 3
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Question Number : 38 Question Id : 3354725668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The number 7386038 is divisible by: | &7 7386038 9 gnT [dv=a &

Options :

2 % 4
=8
4 ¥ 11

w

LY

Question Number : 39 Question Id : 3354725669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In a pet shop there are 100 pets, out of which 50 are cross breed variety. What is the probability that a cross
bred pet is selected when chosen randorrily? | U UTerq, Tl @1 g #, 100 UTe 04 & FH & 50 T 7€ i gl
AT b = Pl U SEh| T HTHeha T § o7 St ea U9 T =14 517

Options :

b | =

1 o

Lad | =

w M
¥ &
i |

L | =

Question Number : 40 Question Id : 3354725670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& man can row at 5 kimjh in still water. If the speed of the strearn is 1 kmfh and it takes 1 h to row to a%%ace
and come back, then how far is the place? | UH [&W R uHT # 5 Fopt| €T § A1 26l Sed T g1 TS ST @l mid 1
TordiT eI & ST fopelt SerTeT o <A1el oA ST S0 ST § 1 2T @1 g, @1 €I fehe =T gt 87

Options :

1.¥ 2 4km | 2.4 ot
2. ® 25km | 2.5 Tt
3. ® 3km | 3 Tt

4. ¥ 36km | 3.6 Tt

General Hindi
Section Id : 335472145
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Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472145
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354725671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

o T T IR T & -
Options :

1. ¢ qIeed

4 % Fow

Question Number : 42 Question Id : 3354725672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
ST oo & fery Teifor apr Terepmay gamm?

Options :

R

M

L

Question Number : 43 Question Id : 3354725673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
WY T Fad Il AiTE® SHTE Faalal s -
Options :

® g

r

w

NN

Question Number : 44 Question Id : 3354725674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

T qeg | Tore wa T Syl 87
Options :

1. ¥ sec gt
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RE2.
4 % 7

r

%]

Question Number : 45 Question Id : 3354725675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

e &g B T @ W A5l 87
Options :

1LV gy

3 % oy

Question Number : 46 Question Id : 3354725676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

‘BT W UL Mg H g BT AT g7

Options :

1. ¥ Zaea
2. ¥ quuid

Question Number : 47 Question Id : 3354725677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A F 5eET F W e A @ a9 Uw gee 57
Options :

AW
® x 4
#{1

Question Number : 48 Question Id : 3354725678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

“Tohep T |ie g g H @ @ ar e
Options :

1. ® 0¥ +7F

4. v UF+UE

Question Number : 49 Question Id : 3354725679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
‘AT F A Jeg M H A BT ATE?

Options :
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Question Number : 50 Question Id : 3354725680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
‘T W AN e M H A FTATE?
Options :

1. ¥ gy

eRE
)

-

SUN

g

Question Number : 51 Question Id : 3354725681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘T AT T Mg, Mg H & Wi 27

Options :
1. ¢ g
4. ® et

Question Number : 52 Question Id : 3354725682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

37E T AST PeTa w1 aff Ty H & @i A7 87
Options :

L

o

Question Number : 53 Question Id : 3354725683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AT H TH FAT TeTal @7 o Mg H H B a1 a?
Options :

L

-

Question Number : 54 Question Id : 3354725684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
I W e ©F T H S T AT ae
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Options :

4. % wEH

r

L

Question Number : 55 Question Id : 3354725685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
aee ATH S G|T|'\11|-'||

TEHTE 9T
T Uikt | ﬂ‘ﬁ‘aﬂ:rmrﬂ%?

Options :
1. ¥ dheg g

2 R goaeg T

w

-

Question Number : 56 Question Id : 3354725686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

AT
ﬁmaﬂiﬁwﬁ% E’pr%ﬂv_vﬂqﬁﬂ’?
Options :

M

w

® JumT Ao

s

Question Number : 57 Question Id : 3354725687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
TOTET feg 1 d@gl g g -

Options :
® T g =r

]

w

Question Number : 58 Question Id : 3354725688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

T Tore T @1 T T 56—
Options :

1. ¥ gregea ™

2. ® gEuTy
4. ¢ g g
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Question Number : 59 Question Id : 3354725689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Teremer ! Tope T T S e -
Options :
1. % o

Question Number : 60 Question Id : 3354725690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
T ToRet @gd a7

Options :
1. ® St qeeia O Seg & o1g 8 Jea] Iq% onf # uitad & 4d & SRIET [H9udT Iqu-y @€ 4d 8

4 % g @
Rural Economy and Panchayati Raj

Section Id : 335472146
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472146
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354725691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

which one of the following is NOT a function of Panchayats? | HaAiai@s § & #1991 %7 varaat &7 =51 57
Options :

1. ¢ Policy formulation | Sifa fererfeor

2. ¥ Monitoring of works | @71 @l AT ®T

3. ¥ Supervision of projects | aiea=TIT BT THca0T

4. % Execution of projects | aiti=mrat @7 fqug

Question Number : 62 Question Id : 3354725692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Carrect + 1 Wrano + )
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In which of the following districts of Madhya Pradesh was an AEZ for potato established as early as in 20027 |
mzru&ar%ﬁﬁﬁﬁﬁﬁfrﬁﬁ%ﬁﬁmﬁﬁﬁ T o Toly, 2002 &1 JEATT H 51 Te1S oI ST &l 787

Options :

1. ¥ Bhopal | {07

2. ® Gymlior | TaTeraT

3. % Vidisha | fafgar

4 ¥ Indore | 531

Question Number : 63 Question Id : 3354725693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
What are the functions of Kisan Didi? | = SIST & Fa1 #1451 27

Options :

1. ¥ Working as agricultural labourer in farmers’ fields | framt & @7 § Qfage wgl & &0 # @1 @
® Looking after the farmer's family and dependents | et & uftam ot snfat &t S e
# Teaching farmer’s children and relatives | Toram! & agf o frsdart @1 f@tET @

4 ¥ Acting as a bridge between Agriculture department and farmers | §i9 TevmT 3T Terea=! & Tes Gud 97 & &
EEIC T

M

L

Question Number : 64 Question Id : 3354725694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which among the following states is the largest producer of tea in the country as of 20167 | a9 2016 ¥ TR W
o FEieEd # | #19 a1 099 a1g &1 Ga4 g981 IqUIeF 57

Options :

1. ¢ Assam | S/9H

2. ¥ Maharashtra | igRTE

3. ¥ Andhra Pradesh | 3= udar
4 % Tharkhand | FIREE

Question Number : 65 Question Id : 3354725695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

which ameng the following is NOT a function of Programme Implementation &gency under Deen Davyal
Upadhyaya Grameen Kaushalya Yojana? | S SaTe JUTeaTe WTHIT Sawar D91 & agd Haiead § & & a1 wrden
WA e o= T 7 & Tl 27

Options :

1. ® skilling & placement services free of cost | T+ @ @19 o wigde gar

2. ¥ Granting loans to the aspirants | IFHIGART Pl F0T WG BT

3. ¥ Transport & lodging during training | Wg0T % R uitag &ffT smarg & eee T
4. ® Post placement support for 6 months | TWHHT & a1 6 HIg TF G54 T HeH HeaT

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 66 Question Id : 3354725696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The Cormrmittee appointed in 1977 to study the working of Panchmagati Raj institutions was under the
cha.irmaer%?hip of ______. | U T T SETT o chTHeRTT BT STE e o o 1977 # g |t T areyET

Options :
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1. ® Balwant Rai Mehta | gddd 4 AgaT
2. ¢ Ashok Mehta | s1sma HgaT

3. ® GVK Rao | Sidt® 0a

4. ¥ L M. Singhvi | Oa.0A. Tadr

Question Number : 67 Question Id : 3354725697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which of the following is NOT an objective of establishing Soil Testing Frojects at Village level under the Soil
Health Mana ement (SHM) Scheme? | TMRARET # & T 97 4o T T Welel (THU=TH) TR=T o 2faTid U9 &9¢ 0 527
ST TR TS & ST @ J58d gl 5

Options :

1. ® Toimprove soil quality and profitability of farmers | GaT oadar # Gar w1 ferart & i@ & # g &
2. ® Employment generation among rural youth | TTHIT Fameit @ sie T &ee

3. ® Toimprove timeliness in analysis of soil samples | TgT & TAT § GRTegd 1 § GoR

4. ¥ To prevent soil erosion in villages | Tt # H2T SIS H THITH FAT

Question Number : 68 Question Id : 3354725698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
FPani Panchawat is the name first Zivern to a movernent started by
1974 ________ & BT S T I SITea et o <110 U1+ T ST 2m

Options :

1. ¥ AR Antulay | U3 aige

2. ¢ Vilasrao Salunke | @ dde
3. ¥ Baba Amte | TET HTHS

4. ¥ Anna Hazare | argT AT

in Maharashtra in 1974. | iR H

Question Number : 69 Question Id : 3354725699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
In India, the Spices Board Act was enacted in: | WG H, FEAT a1 STEi==q

Options :

1. % 1946

2. ® 19586
3. v 1986

4 % 1996

Question Number : 70 Question Id : 3354725700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

According to the 15th Livestock Census, the total livestock population in India in 2012 was approximately
_________ rrillion. | 19T TEe ST & STJHR, ARG § §d TeE S=EEdr 2012 # 7T f%%atrﬁn

Options :

1. ¥ 400
2. ¥ 512
3. ¥ 543
4 ¥ 328
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Question Number : 71 Question Id : 3354725701 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
%o%varorngny days of employment are guaranteed under the MGNREGS? | A-TIT & SiTiq g+ faat & T &t et

Options :

1. ¥ 100days | 100 &9
2. ¥ S0days | 50 e

3. ¥ 2Sdays | 25 A

4. % 7odays | 70 e

Question Number : 72 Question Id : 3354725702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is SHG? | TEU=T 49T 57

Options :

1. ¥ Social Health Group | HHTN® €aTed G905
2. % State Hygiene Group | {9 T@zgdl Gg
3. ¥ Self Help Group | ¥4 @g1adT 663

4. ® sanitation and Hygiene Group | Tergdl T Fares Jg

Question Number : 73 Question Id : 3354725703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Milk & milk products under brand name ‘Sanchi’ is marketed by _______ .| EIET ST S S g U g Joune @
T EIT TeraT ST 31
Options :

1. ¥ National Dairy Development Corporation | TER 2441 [d@md g9

2. % Madhya Pradesh State Milk Federation | Wed Wea T4 grel €

3. ¢ Madhya Pradesh State Co-operative Dairy Federation | W& 0SS T TgaT 294 @
4. % National Milk Marketing Federation | U1 gref v @9

Question Number : 74 Question Id : 3354725704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Madhya Pradesh Fural Road Developrment Authority is the exe::utin% auth%c]:urit? for implementation of

| HETWEST TTHITT e el WEeenT & W iaa & ey e

Options :

1. ¥ Mahatma Gandhi National Rural Employment Guarantee Scherne | AgTeHT TTefT HeMd &0 TargHe el epiaA
2. ¥ Pradhan Mantri Gram Sadak Yojana | WeTd W3t TTH 9S@ qr==T

3. # Bullock Cart Subsidy Scherme | g&@ ®1¢ Hisda! Ty

4. ¥ Mukhya Mantri Khet Teerth Yojana | G&I 5T @ dref Fi=m1

Question Number : 75 Question Id : 3354725705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the name of Animal Health Card issued by government to cattle in all states? | @ T=af § TN g1
Hatdrat @ Tl St TorT T U TH 57T 18 @1 10 FT 57

Options :

1. ¥ Pashu Swasthya Card | U HaTad &1
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® Gau Swasthya Card | T qa&ed 18

£
3. #® Janwar Swasthya Card | STTHeR HaTqgd F12
4. ¥ Nakul Swasthya Card | 79 Gared Fe

Question Number : 76 Question Id : 3354725706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
which is India’s first fully organic farming state? | R &1 Ul IO Alcw ST T4 B9 d1 87

Options :

1. ¢ Sikkim | Tafge

2. ¥ arunachal Pradesh | 3@ Aea
3. ¥ Kerala | 3%

4. % Tripura | BQT

Question Number : 77 Question Id : 3354725707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Jai Kisan-Jai Vigvan' weelk 15 celebrated by [CAR 0 Cormumernorate the birth anniversary of ______. [T ToraT-
T T FATE TS H SR &’y ______ o A-ATE o THCOT H JATT AT 8l
Options :

1. ¥ ¥ P Singh and H D Devegowda | = Ut &g oY tar 1 SameT

2. % Jawaharlal Nehru and Lal Bahadur Shastri | STaTgaTd Age T #Td agige ATei!

3. ¥ Narendra Modi and L K Advani | 942 AiST 3 O & s2dmir

4. ¥ Atal Bihari Vajpayee and Chaudhary Charan Singh | afea EERT arut i arens zwo &g

Question Number : 78 Question Id : 3354725708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

MName of the programme launched for the youth of J& K under Deen Dayal Upadhvaya Grameen Kaushalya
Yojana? | g Samd SUTEAT TTHIT SIAwIT AT & d5d ArH- BRI & Jamalt & Toid & ToT T HTierd T A0 s ey?

Options :
1. ® Jyoti | =4l

2. ¥ Sahavog | TN
3. ¥ Insaniyat | EaT=4d
4. ¥ Himavyat | TeAMT

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 79 Question Id : 3354725709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where in Uttar Pradesh is Indian Institute of Pulses Research located? | 3o W # H9- Seelesly T Ui fHe=t
(AT 2T 1ol ST HeIT) gl 0T 27

Options :

1. ¥ Lucknow | @35

2. ¥ Kanpur | #HqC

3. ¥ Allahabad | segEG

4. ® Raebareli | Tl
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Question Number : 80 Question Id : 3354725710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Wwho should be the head of Social Audit tearmn of the Panchayat under MNREGS? | W4T & iaTid T &
AT oI UET4T Set @ GREAT @i gm?

Options :
1. ¥ 4 person from outside the ward where work is conducted | 78 a2 &7 &W 5197 &, I0F aT5¢ &1 ATH

2. ® panchayat President | U=Tad sreay
3. # Senior most person in the village | T %7 Tad TRE i
4. ® Secretary of the Panchayat | U=dd &1 9izid

Cormputer Knowledge

Section Id : 335472147

Section Number : 5

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472147
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354725711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The software program used in cormputers for exploring the internet is called _________ .| TR | getT &
T EqAT T o Tolly TJard & I+ ATl ATcreaad W _________ FEATT o)
Options :

1. ¢ web browser | e FTFHT

2. ® web server | d« gt

3. ¥ software service | @iFeaon digq
4. ¥ database | 2TTed

Question Number : 82 Question Id : 3354725712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ADD, MOVE, and CMP are mnemonics used in: | ADD, MOVE, CMP ST (gt dda) Fa d rgga gid 2
Options :

1. ¥ Programming C | WA C

2. 8 C++

3. ® DOS

4. ¢ Assernbly language | SERGHAT AT

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.
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Question Number : 83 Question Id : 3354725713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

which of the following satisfies the standard policy for strong passwords? | HRAWTET # § 19 qI%d THas &
Tol ATe Hifd @1 Hqye wear g7

Options :

1. ¥ GoldfiSh
2. ® poldfiss
3. ¥ g014fish
4. ® gold fish

Question Number : 84 Question Id : 3354725714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
What is an Intel core? | S&d ®IT 74T 57

Options :

1. ¥ A Memory Unit [ UF THId 5FT1S

2. ¥ 4 Power Supply Unit | U [dejd ne s@re

3. % An Information Processing Software | GaHT TEEH ATk caT
4. ¥ A Central Processing Unit | e e Udd

Question Number : 85 Question Id : 3354725715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
In MS Excel, a forrmula starts with: | U009, UFaa 0, 93 WA & g€ 5aT e

Options :

1. ® APlussign (+) ] & (+) g @

2. ® A minus sign (-) | &7 (-) TR E

3. ¥ 4 greater than sign (>) | &7 (>) =g &
4. ¥ An equal sign (=) | TR (=) g @

Question Number : 86 Question Id : 3354725716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the shortcut key used to select all the contents in a Word docurnent? | U# a2 Tedres # qHed feueg #1
T T & Tl I & oy Tfd gl 57

Options :
1. ® CTRL+C

® CTRL+V
% CTRL+Z
¥ CTRL + A

W

e

Question Number : 87 Question Id : 3354725717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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What is the use of below tool in Outlook? / 3fT3¢eld # fele=T Tol & T 3T GidT 72

£ New |~

Options :

1. ® Sends the selected item to the Deleted Items folder [ @eigre U 77 smgew @1 {26ieT smEerd Bivst # ugamdT §
2. ¥ Prints the current itern | IdA SECH ®1 e FaT 5

3. ¥ Creates a new item, such as an ernail message or appointment [ 4T AT5eH FAT FedT 2, S o Soe ddar o

o

4. % None of the above | JWEHT § & B 51

Question Number : 88 Question Id : 3354725718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is [P Address? | TEU U229 Fa7 27

Options :

1. ® It is the emnail address for the user's email messages | 95 WARdT & §-Hel Ged & o] 5-Hd USgd 5l g
2. ¥ It is the computer’s address in a computer network | g FHIYET Jedd H THIG FTUSST BT &

3. ¥ Itisa website's URL eg: www.flipkart.comn [ 9 de3e BT JHNUHA F1aT g, A4 o www. flipkart.com

4 % Itis the SIM number of the mobile phone | Ig AEEA BIF &1 6T Ha€ glaT s

Question Number : 89 Question Id : 3354725719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
speed of processor chip is measured in _____. | TTEET o d e W H AT AT &)

Options :

1. ¥ Mbps | Mbps

2 ¢ MHz | MHz

3. ® Bits per second | T&Ta uid dws

4 % Bytes per second | 915¢d Uid Has

Question Number : 90 Question Id : 3354725720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In M5 Word, a character that is raised and smaller above the baseline is known as: | THOE 92 H, 95 &€ A7 387
TOT 1T & 3¢ ErTe o F0E BIET 5T 5, AT #EamEr g

Options :
1. ® Outlined | s3TAGIS
2. ® Raised | W2

3. ¥ Superscript | Tl
4. ¥ Subscript | gaTEwEqE

Ly

Question Number : 91 Question Id : 3354725721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

which of the following methods CANNOCT be used to enter data in a cell in MS Excel? | THUH UFde d, Fog d @
i | TdTer & o 227 &1 0t & oy ngea Aal of G@d! a7
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Options :
1. ¥ Pressing an arrow key | U i1 ga=T
2. % Pressing the tab key | & git gamT
3. ¢ Pressing the Esc key | &0 gl ZaT
4 % Clicking the enter button to the formula bar | BTHAT & & Gt ae- 0T Tarerer #ear

Question Number : 92 Question Id : 3354725722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

which of the following is NOT present in funcnon hbrarg.r category in MS-Excel 20077 | Foieas # & &9 gaga-
TFad 2007 H B ATge H Tl IUA BId T

Options :

1. ¥ Logical | #S®a

2. ¥ Series ! eI

¥ Financial | wTg=
® Text | T9¥E

L

s

Question Number : 93 Question Id : 3354725723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

In M5 Word 2007, the landscape option is availablein _______ dropdowrl. | THIE g2 2007 ¥, fower degqesy
210 STa § SUAae 51T 1

Options :
1. ¥ Page size | U A5

2. ¥ Page orientation | U sife0a=
® Paper size | UK @15H

# Font style | BT GCI5d

w

-

Question Number : 94 Question Id : 3354725724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
____________ is an OS used in Apple iPhone. | _____ TY0d HTEHH H UG® 517 aTaT 0@ OF BT 8]

Options :

1. ¥ 08

2. ¥ Android | UgToE

3. ¥ Android KitKat | UgTas [dede
4. ® LTE

Question Number : 95 Question Id : 3354725725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The smallest unit of measurement used for measuring data is: | 227 % A & &0 UGFHT 51 aTe! Gadl FIeT SaTs

LY

Options :

1. * Byte | 52

2. ¥ Bit | TalT

3. ® Nibble | e
4. ¥ BCD | &1 €ET




16th Dec17 Shift 2

Question Number : 96 Question Id : 3354725726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
Wwhich of the following is NOT an example of application software? | A § & F7 UGaThIs ST HT I515C0

T

Options :

1. ® word processing | @2 WETET

2. % Cormnputer graphics | ®HYET TTthgd
¥ DOS | ST 4T

. ® Spread sheet | §iE T

w

W

Question Number : 97 Question Id : 3354725727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

In Page Layout tab, indent and spacing option is availablein _______ group (in M5 Word 2007). | U #3lT.T3T ¢
#, S e T fawe TU(IATE 92 H) § I B 8
Options :

1. ¥ Page Setup | U= @Tam

2. ¥ Page Background | U SwUTIE
3. ¥ Arrange | N9

4. ¥ Paragraph | TRTE

Question Number : 98 Question Id : 3354725728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
The collection of billions of interconnected webpages are transferred by using: | e®al & 5¢<cn-1m¢5 et o J

THG JULNT ERT T F0 <11 §

Options :
1. ¥ HTTP | HTTFP
2. ® FTP | FTP

3 % SMTP | SMTP
4. % None of the above | IWigHd § & DI a1

Question Number : 99 Question Id : 3354725729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
_________ option helps you to save an unfinished email without sending it. |

o T TIET we | ST T SE a7 HedT gl

Options :
1. ¢ Save As Draft | ST & &0 # TaT @t

2 % Inbox ! EFIE ﬁiH
3. ¥ Sent Iterns | UT smged
4. ¥ Trash | 34

P aTegel &~ o T

Question Number : 100 Question Id : 3354725730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which option in roofm tab is used to check the spelling mistakes in M5 Excel 20077 | THIE TFde 2007 |,
Far ﬂzr%g T 2 H w19 &7 ey UG g1 a7

Options :
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1. ¢ Spelling | FufAT
2. ¥ Research | fra=f
3. ¥ Thesaurus | FErd
4. ¥ Translate | TEwT



